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In 1-4, state the postulate or theorem that can be used to conclude that the
triangles are congruent.
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In 1-4,‘ for each triangle name the included angle for the sides given.

1. AABC : sides AB and AC 2. ADEF : sides DF and ED

3. AXYZ :sides XY and XZ 4. AOPQ : sides OP and 00

In 5-7, state the third congruence that must be given to prove that
ADEF = AMN O, using the indicated method.

5. Given: 6. Given: FE=ON 1. Given:
LF=ELO
Method: SAS Merhod: AAS Method: ASA

In 8-10, state the third congruence that must be given to prove that
AABC = AXYZ, using the indicated method.

8. Given: [AZ (X 9. Given: [A=(X 10. Given: (C=/Z
(B=0Y AB=XY BC=YZ
Method: AAS Method: ASA Method: AAS
K4
In 1and 2, write a proof.
1. Given: AD = BC. AD | BC B B NUST—
Prove: AABC = ACDA 2. Given: RT bisects ST, SV bisects BT
‘ Prove: ASQR = AV QT
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1. Given: AB | CD. AC || BD : 2. Given: AE bisects DC at B
Prove: AABC = ADCB e Tt U LAZELE
B Prove: AABD = AEBC
A A c

3. Given: C is the midpoint of XY
BX L AC.EY LCD
Prove: ACXB = ACYE
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6. Complete the proof. E
Given: (EBC = (ECB
EB=EC
BE bisects LAEC a 58 ¢ D

CE bisects (DEB
Prove: DABE = ADCE -

Statement

. BE bisects LAEC

LAEB = [BEC

CE bisects LDEB

/BEC = [DEC

{AEB = [DEC

LABE and LERC ar &
T, LDCE and L ECR are Supp-
§.LEBC £ LECGR

q. LABE F LDE

0. EB £ B )

1. AABE & ADCE
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